
Problem Set 10
Econ 702 Spring 2005
(Due Last Lecture)

Problem 1 Consider the optimal unemployment insurance with asymmetric
information we analyzed in class. Set up the problem with the following ex-
tensions. You do not need to characterize the solution yet it would be a good
exercise to do so. Feel free to introduce any extensions you like.

1. The agent can borrow at a fixed rate

2. The agent is asked to pay for the insurance cost once employed and the
tax might depend on the duration of unemployment

3. From time to time government forgets your previous actions and outcomes
(that is the length of your unemployment period) and treats you as a new
person.

4. There is a certain probability of loosing a job every period and going back
to unemployment and it does not depend on, on the job effort.

5. Same as previous case but probability of loosing the job depends on the
effort you provide during employment

As an exercise (you are not required to turn it in) also show that ct is
decreasing and at is increasing over time in the efficient unemployment insurance
scheme.

Problem 2 (Not required to turn in)Consider the model with one-sided lack of
commitment, the value of the contract to the risk neutral agent with commitment
is P (V ) if she promised V to the risk averse agent.

P (V ) = max
{cs,ωs}Ss=1

∑

s

Πs[(ys − cs) + βP (ωs)] (1)

subject to

u(cs) + βωs ≥ u(ys) + βV
A

∀s (2)
∑

s

Πs[u(cs) + βωs] ≥ V (3)

Calculate the maximum value of promised utility that the agent with commitment
technology will ever promise to the other.

Problem 3 With a usual strictly concave utility function, show that the cheap-
est way to deliver a promised level of utility is to provide it in the form of a
constant consumption stream.
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